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[17 Interpret and solve the following initial-value problem. (20%)

2
0292 19% 4 ar o Scosar
dt dt

at=0,x=05& E=0
dt

[2] Using the Laplace transform, solve fc% ~3y=e” subjectto y(0) = i. (20%)

3] Find (he eigenvalues and eigenvectors of (20%)

{4] Find the directional derivative of T(x,y, 2)=xy’ - 4x*y + 22 at (1, -1, 2) in the
direction of Gi + 2j + 3k, Also, find the maximum and minimum values of the
directional derivative of F at (1, -1, 2). (20%)

5] Evaluate
([v ‘z +1 ; I
"z +4z

where C is the citcle |2 = 1. (20%)




